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3 8 4593 K& VRS (2) & - Ak 13.13 3 7 5918 /NEE EIE(2) B Gn - mES 13. 47
4 1 5929 =i piAR() B & - EES 13.28 4 2 5944 JHP ZEEL(2) B - AN 13.59
5 7 4472 A EMR@)  F M- FKN 13.58 5 4 2341 B BAEG) B - S 13.62
6 6 2410 PEEH O ERQ) B m-EAE 13.68 6 6 6859 JLJIl FEL(2) = w- s 13.81
72 2364 M H4(3) = om-sdmes 13.75 71 6829 mAE MIJh(2) = - kmE 14. 00
3 5910 ¥ RE®R) B - e DNS 8 2474 HHll LE@Q) = m-soceEs DNS
13%H (0. 0) 14540 (8 -0. )
NEAL V= Fon' = K4 B FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 4 5919 VHWE AR (2) & - ks 13.23 1 3 6818 JNjE HHE() = m-mEsc 13.32
2 2 2427 FH THHE(3)  ®m m - EEmEEs 13.39 2 8 6804 w[UE MTHE(1) = s-taheki 13.38
3 8 5786 KH ZAEQ) = m-WhH 13.53 3 6 5976 @H HHT(Q) ® G- Emes 13.39
4 1 6843 W&JI| EZ(@Q) = om & 13.57 4 1 2242 B ODxE®G) B M- LEEG 13.57
5 5 2470 kAl 4%RA(2) = 13.61 5 7 6833 HMH MHEIZ(B) % 40 - CAPIC 13. 62
6 6 2360 BFE DA 13.87 6 5 6832 Fldl ZEH(3) & - CAPTC 13.96
3 4656 ik FEHG3) DNS 74 2400 R FEEQ) B M- B 14. 15
7 5494 FHik HFEB3) DNS 2 5926 HEH Ehx (2) B & - EES DNS
15%H (BL: 0. 5) 16#H (.:-0. 6)
JERE V= dun' = K4 P& Flfk 1Avh WERr V= Fun - K4 Bz Fifk Vb
1 2 5927 FEH WFEQ) = - mEs 13.27 1 8 2187 ki BiE () = meskmrme 13.73
2 4 4628 {FiE TEF(Q2) B m-mopd 13.36 2 6 5784 KB F5(2) F G- WA 13.77
37 2471 /B HREE(2) = om ke 13. 40 37 4264 FREE Fn(3) TG KEh 13.86
4 3 5845 fEL 2 (3) S AEEN 13.68 41 4652 AP RIER) = - mstad 14. 22
5 6 4688 MNEE JHME(3) = - @b 13.72 5 2 4563 /NE O ERL(B) ® M- TSM 14. 24
6 1 5878 [ HAEHEG) = - ik 13.75 6 4 2342 FEAIH BFEG) B - HHES 14. 40
78 2435 HfE FIWE(2) B om - wpmE 13.87 34352 AR FERE(2)  ® - L DNS
5 5983 &k ¥4 1) B m- KA DNS 5 4452 U Yy BIEEGR) B m-mITX DNS
1748 (A:-0.7) 1858 (8:-0.7)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
1 4 5959 PEAl WAEGR) B M- REds 13.43 1 2 2314 #9HE A Q) B Gn-£HE 13.51
2 8 2371 Y& HEARER) = m-kBjEs 13. 44 2 7 6806 M B (1) = om-mkkE 13.74
3 5 4535 JIIPE HEB) = m-smuld 13.57 3 5 6785 Fff KB = m-RKe&Hp 13. 80
4 74271 AR EHEQ) = m-kHAC 13.81 4 3 4639 BEER  FEZe(3)  ® MmeKIKK TRC 13.86
5 2 6885 HUAR HEF(3)  E - KA 13.85 5 4 4569 [f  3ZH (3) % M- TSM 13.91
6 6 5965 &1 HEOB) = m-KAE 14. 10 6 1 6805 ZJH FEIF (1) = kM 13.92
71 4262 fEL BR(3) - P NLL 14. 32 78 2267 JNEE HTIEG) B om- RS 14. 17
3 5967 SR () oM. KAH DNS 8 6 2450 Hk EBE(3) B BATH 14. 47
19#H (JE:-2. 3) 207%H (JE.:-0.3)
JEAL V= dun' - K4 Bl Flfk Vb NERE V=2 Fun - K4 B Fifk Vb
1 7 6853 FEM (1) = m- s 13. 68 1 3 4536 R SO (3) & G- ik 13.60
2 5 5510 fFjE ZEHEQB) = - Ao 13.86 2 8 6807 PR EARL(D) = ki 13.71
3 4 4696 (UM FHKB) = m- @D 14. 00 3 7 5938 B BEAEG) B m sk 14. 01
4 8 2240 +F BELN(B) B & LHE 14. 14 4 1 4240 FEH HxFHQG) = om-wEh 14. 05
5 6 5785 Wiy FRyE(Q2) E - WEAE 14.16 5 4 5900 LT A&(2) T PR 14.08
6 1 5939 RFE M7 (2) = m-ams 14. 17 6 2 4434 $HK FE@Q) B o xky 14. 20
7 2 2186 JluE AFEB) = w-mwimis 14. 24 7 6 5898 BFT £EH(3) B & - P& 14. 30
8 3 6831 /& AEK(Q) B M- CAPIC 14. 31 8 5 4587 B FEEB) = m-EHAET 14. 34

FL5| DNS:R1% DQ:#& FS:(TR16.8)ANIEAS—b



B4 F100m

R OKH B - AE BT
FLEREAL BT K=

A4H5H 09:15 #{hV—%

B{hV-%  60FH

2148 (A:-1.3) 22%H (fiL:+0. 2)
NESL V= Fun - K4 i) Fogk aivb NERE V= Jun' - K4 iz FLfk aivb
1 7 4369 JEH L (2) = w- s 13.88 1 8 5849 &K BHE(2) = wm-aimds 13.74
2 3 4410 mFEEF FERL(Q2) = omemeos 13.91 2 1 2387 2k EHE(2) = om-wmEe 13.88
3 2 6887 gk HEQB) B M- KA 13.99 32 2247 WA EWL(G) B - mkEsS 13.89
4 8 4277 'R KF(2) = m-xzac 14.17 4 6 6868 JMEHF LFN(3)  ®m A KM 13.91
5 1 2198 EZH HEE(2) = om0 mwiRidwE 14. 35 5 3 4247 A#) v H(©2) ® m-KkaEh 14. 03
6 5 5489 /bR FHREQR) = - pitemed 14. 37 6 5 5960 HIF 7ZR7R7(2) B - RS 14. 05
76 2212 KEF O FRL() = s 14. 43 74 2411 KRf EBRQ) B w286 14. 10
8 4 5932 |LUSF A/EEQ)  F - Rk 14. 55 75992 JRER @HE(3) B - MEE DNS

23%H (.:+0. 5) 245%H (&.:-0.3)
NERE V= fun' = K4 e FoEk aAvb NIEGE V- fun - KA e FoEk 2Avb
1 2 5861 AH FE(2) = w- bdesms 13.28 1 1 2429 4 AEF(2) = m- wems 13.58
2 4 4635 RALR E=FHFQ) = m-wmopd 13.68 2 4 4370 @)l AEE(2) = e srlson 13.68
33 4373 A EML()  ® e smlsken 13. 84 3 2 6888 thyy ZEHER) B M- KK 13.81
4 8 BRTT KEE WEE(Q) = - Asws 13.92 4 8 6882 i AHAIEG) B - KAFE 13.94
5 6 5453 Fadk fE(1) = sererogeer 14. 20 5 7 6856 Bl RIFE(2)  m - ks 14. 04
6 7 4573 % B () F - KAAC 14. 45 6 32193 [fA &3 (2) = - s 14.05
1 6825 HyE HIE@G) = - dud DNS T 6 2376 /hBRK ORIP(Q) = m- Ak 14. 20
5 2291 AfRE TG & M- THE DNS 8 5 4409 KB HFHF@Q) = m-grodp 14. 22
25%H (:+2. 1) 2650 (:+1.9)
NERL V= Fun - K4 i) FLgk aAivb NERE V= Jun' = K4 i Rk AV D
1 702305 HH EEZE(2) B M- AEE 13.62 1 8 5928 /i HIZE() B - EEES 13.50
2 4 2194 {FEE E(2) E - SRR 13.68 2 1 4458 Il HFEB) B memowmke 13. 67
32 4412 [UfE  EBALQ) ®m smemrvd 13.86 3 6 5855 AT BHEF(3) = m-mAE 13.70
4 5 5430 UTRE IKE(3) = mewmsmvEn 14. 06 4 2 4508 Al FHE(3)  ® om-skmad 13.80
5 6 4567 )l AEMEAE(3) & M- TSM 14. 44 5 7 4645 FE () ® mekimko TR 13.85
6 32206 =% Wk = om-mmmes 14. 45 6 34329 RFF B (3) = o mwimgs 13. 85
7 1 2337 9% EEG) = m-wRE 14. 69 7 4 5963 K EMAG) =& m-XKAE 14.01
8 6779 AK At (3) = - @Ef DNS 8 5 5455 [E4H  JETE (2)  ® - SET pRojECT 14.13
27THH (E.:+2. 1) 28%H (E.:+2.2)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
1 8 5424 WUl AKREEHL(2) ®= .- s 13.77 1 6 2369 HiE AHLEQ) = m-BuEs 13. 69
2 3 2437 R#k EH ® meomwexs—x 13,77 2 4 5438 W R4LGB) B M- 13.79
3 2 5994 WAL FEFEQB) B 4 BEE 13. 86 3 2 5848 WEH X2 = om- 13.87
4 1 4565 /M < BH((B) & - TSM 13.87 4 5 2352 /M2 ZE(2) = - 13.89
5 5 5491 HKH EFQ) = - Aikmd 13.91 5 7 6827 i Q) o 14. 32
6 4 5930 A)II FEHEQ) = - S 14. 00 6 3 4471 WA HEWLQ)  F - 14. 60
76 6881 fAfM EHE Q) ® - KEE 14.03 1 2451 HH FEREQ) = w-EAFE DNS
7 4281 HAT ALN(3)  ® m- kzac DNS 8 2449 F L ELE@B) = m-EATH DNS
29%H (:+0. 7) 30%H (:+1.1)
JEAL V-V v - K4 HT )& gk _aAvb JIELL V-V v - K4 )& gk 2Avh
1 8 4269 HEH  EHEN) = M- kHAC 13.83 1 4 2373 Bpedd R (3) = - AHjEHS 13.78
2 1 5866 R FlT(2) = wm-oatmEss 13.97 2 6 4448 g EHL(Q2) = m-mIT= 13.87
3 4 5859 HI HFEB) B Mm-peEE 14. 11 3 1 4641 g A 3) £ - KIKKO TEC 13.96
43 4464 WG AR (2) = omemmomsm 14. 23 48 2441 Wl RRiZE(L) B om - mweEs 14. 11
5 7 4233 B MSEQ) B M- EdEE 14. 31 5 7 5903 Bl ZERLGB) B oa - Bhks 14. 45
6 2 2279 it FAxF©Q) =T - THE 14.35 2 6808 i —fE(2) = DNS
76 4633 LA #J5(2) = m-wod  14.38 32189 AMk FEF (D) = ow-mwm DNS
8 5 2326 Al MHAEQ) = m-ERILRE 14. 58 5 4533 JEF HEF(3) ® G- sulrh DNS

FL5| DNS:R1% DQ:#& FS:(TR16.8)ANIEAS—b



B4 F100m

R OKH B - AE BT
FLEREAL BT K=

A4H5H 09:15 #{hV—%

B{hV-%  60FH

314H (J&: 0. 0) 32%H (R +1.0)
JERE V= dun' = K4 P& Fofk 1Avh WERr V= tun - K4 Bz Fifk Vb
1 5 5499 Sk f&H (2) = w- Aiesn 14.07 1 2 2187 il ZZA0) = m- s 13.94
2 1 2207 "HiE f&(1) T - ERGE 14.16 2 5 4482 ek BIE(Q2) B - Emeb 13.95
3 4 6862 BRI M2 = om-odomEs 14. 18 3 6 4551 K& RMF(1) ® m-TSM 13.97
4 2 5857 fHJII HWFKQ) B m-wAEH 14.19 44 4270 Bl FEAE(Q) = om-kAac 14. 23
5 3 6849 M+ HRIE(3) = - 14. 29 5 1 5954 &4 T (2) = e ahAHE 14. 34
6 6 2406 XL BN ® - wmas 14. 30 6 3 5991 HH EHQ) B & HEE 15.85
7 8 5429 BAK  MER) = m- s 14. 38 7 2455 T OWHAL(3) = ow-ammms DNS
8 7 4576 wmjE FEHE(Q2) = 4 -EAH 14. 46 8 4457 ASH PR Q) = m-nIvk: DNS
33%H (E.:-2. 0) 34%H (E:-1.3)
NEAL V= Fon' = K4 B FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 2 58381 P EAR(Q2) = ow- niwms 14. 06 1 4 4654 M AZe3) = - mstaT 14. 19
2 1 2180 JNjE EWE(2) E - EEK 14. 38 2 2 4548 /NPH {EEE(1) ® - TSM 14. 29
3 6 6802 HlE HEE@R) = - Kkmmd 14.91 37 2209 H)Il BHLA) B - mwiEs 14. 38
4 4 6874 BT EWE(2) = m-mzmmsE 15. 03 4 6 4583 /NIl #EH(3)  E M- EAT 14. 48
5 7 5426 iR AW (3) = m-wnikvimh 15. 12 5 3 4511 ®IF HEQG) = m-seasn 14. 57
6 3 4283 JE/Kk EAB)  ®m m-kzac 15.19 6 8 4251 #RE HE(Q) = m-KkaEh 14. 60
5 4685 HEIL EAT(Q)  ®m @@l DNS 7 1 4502 FJII FELR(FF3) = - ALk 15. 06
8 2307 KEF FEAQ) = m-awE DNS 5 4582 K& #HZE(3) & Hm-mhAw DNS
3540 (R:-2.2) 36%H (A:-3.0)
JERE V= dun' = K4 P& Flfk 1Avh WERr V= Fun - K4 Bz Fifk Vb
1 2 5428 KB FEK(3) = m-wrmkwins 14. 45 1 7 4574 My R TH(Q2) B - EAT 14.18
2 7 4468 ¥E BEBHEQ) = om-rITx 14. 54 2 2 5975 /MR AZEQ) B M- wEsG 14. 22
3 4 5506 KA BEF(3) = s R 14. 65 3 3 4424 KO EHEG) ®m meaevd 14. 43
4 1 4342 %W OEE(2) e il 14. 65 4 1 4331 iy BRA () = w- s 14. 49
5 6 4337 KM #5A (3) = m-wmis 14. 65 5 8 4261 ¥ K@) ' M- Kad 14. 59
6 34662 TR FBEFEG) = - @b 14.73 6 6 2248 K D H(3) B - wEkES 14. 67
7 8 5897 HEF ffy7-(2) = m- P& 15.08 7 5 4256 F #ERE(2)  ® m- kEth 14. 69
8 5 5452 e FEE (1) = s sererojeer 15.13 8 4 4492 A FER(0P3) = M- gk 14.91
3THE (AL +1. 2) 38%H (&1 +0. 3)
NEGE V- fyn' = KA EiE] FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
13 6816 HEF gRAT(2) = - mmbEh 13.61 1 1 2350 f&& ME(2) TG FEE 14. 25
2 4 2397 vevemor gmeesemre M- BT 14. 15 2 2 4250 ZRMhL FIL(2)  ® M- K 14. 26
3 5 4585 F% DER) B - Eed 14. 31 33 2431 R AIET(2) B - wmEmE 14. 41
4 8 2251 FJEL AEAN(2) w0 - pkER 14.33 4 6 5463 M xFE(3) = - Ser pRoJECT 14. 44
5 1 4562 KH Z#&@3) & m-TsSM 14. 39 5 7 4333 [UAR  EHEG) = - mms 14. 46
6 6 4527 E|E 5% Q) & &-mud 14. 47 6 5 4305 K&+ = (3) T M- BT 14. 64
7 2 5993 Bk HEE3) T - AW 14. 84 7 4 6824 WA FLEGB) m om-maEnm 14. 66
8 7 6761 HE BFL(1) = - KD 14. 88 8 2219 HA VHQ) B s DNS
39%H (JE: 0. 9) 40#H (E:+1. 5)
JEAL V= dun' - K4 Bl Flfk Vb AL V= Fun' = K4 B Fifk Vb
1 6 2230 #FP WHHEA) = om-mES 13.95 1 2 5502 [ AREGF](2) = - sk 13.99
2 8 4318 FEJI| A (2) = m- s 14. 06 2 7 5862 /MK BE(2) - AR 14. 08
3 4 2287 HH MEQ) B M- TR 14. 10 3 6 4466 PRI FHE(Z) = m-adms 14. 28
4 7 2454 WM FEEAQB) = m-anEss 14. 63 4 4 4254 Jrdp wmet(Q2) ®m o4 14. 28
5 2 5493 AW HH(3) ® m-akms 14. 63 5 5 4336 EfI mek(3) = 14. 39
6 1 4375 HH WL&ETIG) B - bk 14. 64 6 8 2339 FWH &H(Q = (o3 14. 40
7 3 4626 HH O EBHIQ) = owm-#opd 14. 88 7 3 4371 M FEH (3) T e SFLe 14. 63
5 4581 B #EEHG) = om-EAT DNS 8 1 5953 L EEIE(2)  m m- ssmAHE 14. 64

FL5| DNS:R1% DQ:#& FS:(TR16.8)ANIEAS—b



B4 F100m

# W R KHE R - ATE BT
FLEREAL : BTR K=
A4H5H 09:15 #{hV—%
WV S0}z
4138 (B.:+0.7) 4248 (0. 2)
JERE V= dun' = K4 P& Fofk 1Avh WERr V= tun - K4 Bz Fifk Vb
1 3 4648 Xk FEIN Q)  m - mgtad 14.24 1 2 4268 PR EEH(1) ® m-kFAcC 14. 43
2 2 2259 KPR HRML(2)  ® - EEE 14. 25 2 8 5507 [ A(3) = - mitesd 14. 44
3 1 6837 /NALR WE(2) - doiins 14. 30 3 1 2232 %M B = om-2EH 14. 45
4 4 6821 fil FJH(1)  ® m-misc 14. 55 4 3 2179 Mg HFLEG) = om-EAasa 14. 55
5 6 5511 RB HEQ) = m-89h 14. 68 5 7 5505 JRE. EEEE(3) @ - nisoh 14.57
6 7 4549 FRII KZE(Q) ® m-TSM 14. 84 6 5 2448 JIIiB fEE () = w-wmas 14. 65
705 4433 [UAR WE@B) = m-mrow 14. 86 74 4279 FHEOALPI(Q2) = om-sziac 14.75
8 8 4487 AR HFTEB) B A0 Eph 14.96 8 6 6878 faiE FAG) = m-mzmd 15.13
43%H (Ja:+1. 3) 44%H (Ja:+1.6)
NEAL V= Fon' = K4 B FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 5 4310 PEH Q) = - mhih 14. 20 1 6 6831 PN =12 = - rmé 13.72
2 7T 4345 MEE O (2) ® g #bE 14. 39 2 8 2249 fH RBE(3) T G- B 14. 50
3 8 4304 fERE MAML(3)  ®m A widm 14. 60 3 1 5497 KB WX (2) = - Hitdup 14.51
4 6 5925 fEA fEQ) B M- EES 14.73 47T 4275 M 1&J5(2)  ® - KHMAC 14. 54
5 1 2245 BEF DE(Q) F M- LR 14. 90 5 4 4664 Elff #EEF Q) ® m-wth 14. 56
6 4 4282 HA MiZE() = wm-xAac 14.92 6 34427 FAE O KAER)  ®m omeaivd 14.62
73 4341 FH)| E(2) T Filh 15. 40 7 2 5880 AW EF(2) = - nims 14.73
2 4298 MHE  LJH(Q2) T - WD DNS 8 5 4357 [W)Il ELa(3)  E® g HLm 15. 67
4548 (L +1. 5) 46%H (A:-2.9)
JERE V= dun' = K4 P& Flfk 1Avh WERr V= Fun - K4 Bz Fifk Vb
1 74230 # O EEAEQ)  ® - EED 14. 61 1 4 2343 TWE &BFEQ) B - SEEG 14.72
2 1 5879 FRih EEQG) = - nikwmE 14. 64 2 1 5421 HIBF FrZ(2) = m-wnjkbimn 14.91
3 8 5422 B BEP(2) I 14. 69 3 5 4323 EHA FIE(Q) = o mmmss 14. 96
4 4 2446 K& £F(©2) = w- gnwms 14. 70 4 2 6836 WA BEF(2) = m- e 15. 36
5 5 4315 {HFH fEZE(Q) = w-smder 14.78 5 6 4629 B0 FiEX(©Q) S - o fri 15. 68
6 3 5516 It EIQ) 51+ i h 14. 87 6 8 5522 HF FH(2) - SR 15. 74
2 4382 JEH] HHE(3) = - splsop DQ, FS 7 T 4344 @G Telnd(2) - Halith 16. 16
6 45256 EH PFEEQ) = m-Hulp DNS 32199 FUE A (2) T BRI DNS
ATHE (B:-2.7) 4A8%H (-1 1)
NEGE V- fyn' = KA Bz FLfk AV NEGE V- Fun - K4 EiE! Fofk 2Avb
1 6 2347 FEAR PHL(Q2) = w-HEH 14. 44 1 5 4552 PHMEH ER(1) ® M-TSM 14.75
2 3 4715 UK Hx (1) ® m-TSM 14.91 2 1 4312 & Mg Q) = m-swmih 14. 85
3 4 2361 FrE RFEQ) = ow-mimmE 15. 17 37 5496 A3 EIR(Q) = m- nisen 14.91
4 2 2362 1£¥ 1% (2) O AR 15. 30 4 2 4465 FRE  AKH(3) = w-smwomsa 15.02
5 8 2360 Jif ZZA(2) = m-awmEbm 15. 62 5 3 5456 FPP ATV (2) = - senoprogicer 15. 23
6 1 2359 Kfil HERE(Q) = m-avmibd 15. 74 6 8 4317 ZGuh EBUE Q) = - s 15.79
7 5 2330 KiE WG # ow-mpkws 15. 85 4 2278 H EX¥@Q) = & TEA DNS
8 7 2363 fHA AR = m-siEmEE 16. 43 6 2289 & [HFI(2) B TR DNS
49%H (JE.:-0. 9) 50%H (JE.:-0. 4)
JEAL V= dun' - K4 Bl Flfk Vb NERE V=2 Fun - K4 B Fifk aiv)
1 6 4334 BH HEG) = m- s 14. 87 1 5 4294 FP BAI(Q)  ® M- wHEH 14. 74
2 3 6861 MIEE XEH Q) = m- KiES 14.93 2 4 2255 Ak U (2) B - mEES 14. 80
3 2 6839 EHIA LBE(Q2) = m-sumERs 15. 11 3 3 2200 ZZH WZSTH(2) m - mmiRiss 15. 02
4 1 4666 1l & & (B) & m-ELh 15.11 4 6 4253 #%EE 1 (2) e Kt 15. 10
5 7 5514 fRES FABTL(1) &= - B 15.15 5 1 6828 B4 HELL(2) & H-CAPIC 15.18
6 5 4678 WE HEFQ) = @l 15. 36 6 7 4303 yEF FiF(3) E - pEd 15.51
7 4 4447 AT Ek(1) ® om-AaSTR 15. 52 72 4265 Jb¥F L E) & - K 15. 64
8 8 4631 ek THH(©2) = om-wmomw 15. 57 8 8 4659 MG WE(Q) T m-ELw 15. 69

FL5| DNS:R1% DQ:#& FS:(TR16.8)ANIEAS—b



B4 F100m

R OKH B - AE BT
FLEREAL BT K=

A4H5H 09:15 #{hV—%

B{hV-%  60FH

5148 (8:-0. 2) 5248 (0. 8)
JERE V= dun' = K4 P& Fofk 1Avh WERr V= tun - K4 Bz Fifk Vb
1 14297 /A fa+(©2) = &m-wEh 14.77 1 1 6819 [(LHE (1) = @m-meEsc 14. 62
2 6 4316 A F(©2) = - mmier 14. 84 2 8 4416 HifE RKK(Q2) = m-uprvd 15. 12
3 8 2246 ImE LML) B - WEEA 14.87 3 6 4619 Ml #RE (1) = @-mopd 15.21
4 T 4325 RAMR A Q) = - whwiesh 15. 20 4 2 4299 KA HRIEQ) = - wEkd 15.35
5 2 2185 Tl EHEQB) = w- s 15. 27 5 5 6768 Hid EGAN(3)  m - ko 15. 56
6 4 4415 /NEFH OME(2) = memios 15.29 6 4 5495 JEAK HZEQ) = m-nidged 15.94
7 5 4622 ®iH T 7(1) & m-imofph 15. 66 32211 KW EREQ) = ow- mwmes DNS

3 5520 FET HC(2) = - mmd DNS 7 5933 BRI EEC(2) B A - Rk DNS
53%H (JE.:-0.9) 54%H (E.:-2.5)
NEAL V= Fon' = K4 B FoEk aAvb NERL V= Fun - K4 B FoEk 2Avb
1 7 4319 FH O —E(Q2) = w- st 14.94 1 7 2379 HIl BEE(2)  m om-smesems 15. 04
2 3 4668 fFH HWH QB = m-ELd 15. 08 2 1 4306 /NE BEBETY(2) = - s 15. 10
3 6 4676 FnzE MAN(2) = - @l 15. 16 3 6 4235 WEM E(2) o wET 15. 33
4 8 6762 FHW FfE(Q2) = - KFFHLD 15. 27 4 5 6765 MNEE HEH(Q2) = m-KEE 15.53
5 1 2188 Kl EP(3) = m- sk 15. 57 5 2 4321 HiE EW(2) = m-mmmwn 15.58
6 2 4266 B HAMA() ® & KAAC 15. 92 6 8 4408 /MK EE(2) = m-mrop 15.76
7 5 6850 Ak =(1) B R AR 16. 02 7 4 4618 Ml EQ) = m-mosd 15. 99
8 4 4437 EHEBE  HOB) F O EE 0 16. 13 8 3 4575 4 EERE(2) & - EAT 16. 22
55%H (B:-3.1) 56%H (.:-0.9)
JERE V= dun' = K4 P& Flfk 1Avh WERr V= Fun - K4 Bz Fifk Vb
1 2 4454 #H E(2) = m-movEr 14. 96 1 6 4419 [UE %4 Q) = m-grom 15.33
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